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(a) Critically examine Ouchi’s theory Z of motivation”

(b) Critically examine Maslow’s need hierarchy theory ol motivation (8+7)

(%) s D fdkon sal Stz Rera @ TS Se Ffe

(@) wEa g7 wiawfEa sftmeon @@t sravasda weFEA [&@d (need hierarchy theory
of motivation) @ NE=THH YU&TVT g

OR

(a) How do McGregor’s Theory X and Theory Y of human behaviour help
motivation of employees? Which one of these is more effective in India?

(b) Discuss briefly the process of control. What are the requirements of an
effective control system? (8+7)

(%) AR o A TR @ dEu N pad wE a1 e waral @ ahnka w3
¥ frg UFR weEa I 27 T A S-u Rerd wra A afts o 27

(@) Faau A wiEa A e A e Sife) v P s @ Fm srasEsag
27

(a) What is financial management? Discuss the decision involved in it?

(b) Define Human Resource Management. Discuss the main functions of Human
Resource Management. (8+7)

(m)ﬁﬁuﬂnm%?:ﬁaﬁ%ﬂﬁﬁuaﬁmﬁa&ﬁm

(@) WA wareE yau @ gt @) wE dae yEu & e oA
=g

OR

PTO
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= 1
Define recruitment. What steps arc involved in it

Why is change resisted in an organisation? What can be “’lanagu“c“‘
do

; )
overcome resistance by the workers? Iy

ﬂh-])
) frafr @ afonfa af sad @i- T e @7
) forlt s 3 qRad @ wfdm @ e Swer 27 Sl g i
uﬁﬂumﬁmﬁmﬁ%%ﬁmwaﬂm%? R

ite explanatory notes on any (wo of the following:
Leadership style
Applications of e-commerce

) SWOT analysis

) Marketing mix
Managerial grid (7.547.5)

Afafaa A fFl @ R e fofort ERae:
Yge AR

) F-wrd @ ST

) SWOT faseum

) fauv= fisg

) veuma fis

(2001
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I. Prepare Trading and Profit & Loss Account for the year cnded

31 March 2015 and a Balance Sheet as on that date from the following

-

trial balance :—

A B






Fhe tollowing 15 the Receipts and Payments Account of “V Club® for

ended 31st March 2013

A

OR

YOI

Receipts Amount Payments Amount |
(Rs) l (Rs)
To Balance b'd 4.400 By Salancs 44 00
To Subscrnipuon: By Furniture (Purchased on
2011-2012 1,500 I st January 20113) 10,000
2012-2013 96,000
2013-2014 S00
To Entrance Fees 8,000 | By Sports Fxpenses 11,000
To Sports Fund 15,000 | By Drama Expenses 18,400
To Sale of drama uckets 24,000 | By Newspapers 2,500
To Sale of waste paper 150 By Municipal Taxes 3,600
To Interest on Investments 1.350 | By Refreshments 312,200
By Lighting and Heaung 6. 000
By Medicines purchased 4,000
By Balance ¢/d 19 200
1,50,900 1,50,900

Prepare Income and Expenditure Account for the year ended 31st March 2011
and the Balance sheet as on that date, after taking the following information into

account :

(1) The Club has 200 members each paying an annual subscription of Rs 500
and the subscription of two members 1s stull in arrears for 2011-2012

(1) Stock of Medicines as on 31st March 2013 was Rs. 1,000.

(in) Municipal Taxes amounting to Rs. 2,000 p.a. have been paid upto 1=t

December 2013.

(1v) Salaries are paid @ Rs. 4,000 per month.

PTO
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Mr. F could not pay the third instalment in time whereupon P Limited reposses e«
one machine and Mr. F retained thes ether (wo nuulumi
The value of the returned machine was agreed to be cash price less 409,
The purchaser charges depreciation @ 10% p.a. on reducing balanc
method.

.. P Limited sold the repossessed machine for Rs. 4,500 on 31" December 2015
after incurring repairs of Rs. 200.

You are required to show :
(1) P Limited’s Account and Machinery Account n the books of hire purchaser

(i) Mr. F’s Account and Goods Repossessed Account in the books of P
Limited. (15)

(F) TE TP @ AEEA @R A, | FEEd, 2013 6 24,05,000 o9 @1 | @, 10%
i € o A i TR T gf A, T T A B | FE A, 01 T4, 2010
ﬁn,zo,oooﬁaﬁﬁnémﬁ%w%@aﬁ%wﬁaﬁaﬁﬁmﬁ#m L,
2013 F 267,500 N A fan | 3@ B (01-07-2013) FF A 2,560,000 Wl SH
WA @aE

31 feawm, 2013%%%%@'%%%%%%&%@%@31%“
ffsaa s Teft ST g SR I 01 WA, 2011 A W AT S0 wafd
¥ w@ d T T @A

31 fewaR, 2013 F @ a4 @ forg WHHA @ @R G |
(@) ‘wm'ﬁmm‘mm'ﬁmaﬁmﬂmmz&l
| T Jrera
X

p ffdz A 01.01.2014 & faan -7 wafd @ A F @ 210,000 Wi @ =7 A di AT
1 Sfey ) e @ e o @ e S F A 26,000 s faan e 26,000
oft @ far A wra snfafde FRvd A awm@ afft @ sEEE S e faar

A F, Dad R 1 @E W IR T8 & W @ 5@ @ P s 3 ga il
o @ A F @ v @ e 9 aww @ wd i @ ai, And e A 40%

Fd
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WU S gk e, i A erfawa wve @6l d@en e afa

o A RN i (A wea) b
R @ AfSE e 20,000 |
W A AW A (e qed W) 2 500
A A (A q) 1,000
YR A &l (AR ) @ A e 500
e faghl 25,500
RCE] 8,000
WA & AE W AR @i 6,000
2,000

(@) RarEA M @ e IewEl @ afera avi @l |

5. (a) A, B & C are partners sharing profits and losses in the ratio ol 4:3:2. Their
Balance Sheet as on 31-12-2015 stood as follows :

Liabilities Rs. | Assets Ks.
Sundry Creditors 20,000 | Cash 2.000
Bank Overdraft (Secured Debtors : 18,000
against stock) 15,000 | Less: Provision for (1,000)
Doubtful Debts 17.000
Loan (against the mortgage 25,000 | Stock 25,000
of machinery)
Capitals : A 20,000 | Machinery 40,000
B 10,000
& 3,000
| Profit & Loss Account 9.000
93,000 93,000

The firm was dissolved on that 3@{!:‘. Stock was taken over by the banker
:id back Rs. 4,000 after recovering 1ts

and it realized Rs. 20,000. Bank

overdraft and interest due thereon.

Machinery was disposed off for Rs. 24,000 and debtors realized Rs. 14,000
only. Loan was fully paid alongwith interest duc of Rs. i,000. Sundry
Creditors were discharged at 10% discount. Expenses amognted to Rs. 300

which was paid by A.

P T O,
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qa ga HER ol

u\'l'lL'l' lroum his Pri

¢ the books of the firm g

, by the pariners to make he flg)
;

(12 )

4 gEparE A et B aE A

-2
- PR : i S
Qaany s | ettt s
et A | 20000 | AW _ 2,000
Qo v (e e elih‘.lvﬁi— 15,000 | e 18,000 .‘
qfe @ fag wawE (1,000) 17,000
aro (foma) fog il 25,000 | ®ww 25,000 |
faed @)
qail A 20,000 | WA 40,000
13 10,000
G 3,000
v s @ 9.000 |
93,000 93,000

@ R w i aw @ wd | wiw @ Aw A A fom ik 3@ ?20,0003{(vl-1$”|
Ag A 7o aun el @ W e 14,000 el @e o wNFA 724,000 A A9
el A 214,000 YA Y | O @n ol MAEEE 21,000 =S A T fear awm

o 55

C @afermn 8@ sk IaaE fFe wafa A W= 2950 agd B e

aE WA g s yaer @ fae w@ter sasas @ el weanl gerd oo
FA @ foy Jd deR @@ dar 9K

(@) Rk =am W e A wRwRa Fam 9 af | |

._\,

A9ER W 10% T W Fuerwn w1 2300 @ @ g3 e spaE A A

(1000)
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I.  (a) Discuss the salient features of multinational corporations. What are different
forms in which these corporations operate in foreign countries ? (8)

(b) Explain the benefits and limitations of e-commerce.

3 (7)

OR










4
510
(e1) wendl faaav quretl o faErd il el afitfare |
lerdl
(i) afeada @ afadu @ @RVl 3ilz 3ar @il Jeord @ |
wnféa ot = g aad 7 fadaa F6ifGo

(1) ‘v arealam oftas A @ S

S Write notes on any three of the following : (5%3=15)

(1) Business Plan

(1) Privatisation

(i) Barriers of Communication
(iv) Balanced Score Card

(v) Principles of Plant Layout
feafafaa A4 A fa=0 dm g feoforar fafae
(i) =raaE asE
() Fasitaro
(1) @aw @ AU
(iv) wdfea @R and
3

(v) @@= Asuae a‘,ﬁlafa"\

(2000)
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Saksham Ltd., which depreciates its machinery @ 10% on Diminishing Balance
Method, had on 1" April 2014 Rs. 9,72,000 to the debit of Machinery Account.
During the year 2014-15, the machinery purchased on 1" April, 2012 for
Rs. 80,000 was sold for Rs. 45,000 on 1* October, 2014 and a new machinery
at a cost of Rs. 1,50,000 was purchased and installed on the same date, installation
charges being Rs. 8000. The company wants to change its method of depreciation
from Diminishing Balance Method to Straight line method with effect from 1st
April, 2012 and adjust the difference in the accounts for the year 2014-15. The
rate of depreciation remains the same as before.

Show the Machinery Account for the year ended 31* March, 2015. (12)
OR
(a) Briefly explain the following :
(1) Deferred Revenue Expenditure
(i) IFRS (4)

(b) State the importance of Inventory Valuation. Distinguish between periodical
and perpetual systems of inventory valuation. (8)

T ol Rt il W 10% 9 @ A N Wed W R A - T T 2 0 01 3,
2014 F WA @H F AR 9,72,000 A | A 2014-15 B 2R, 01 A, 2012 F
380,000 ¥ @IS TE A F w1 A, 2014 T 45,000 X AT @ @ T @
fe= v =2 w9l 21,50,000 Tt wRE W @A T 3R 8,000 @H W R W www @
TE | FEE A N W A - T S, 01 I, 2012 A THIR, T T - w6 T
(SLM) 9= =medt 8 a1 fdl oft v @ sk &) ad 2014 - 15 @ @@ A TEtE
FAT AEH B | A - W N W GBS Al W R G B @A

31 W, 2015 ® @ 99 & fog Wi @ 2w
Jrxar
(@) e =t GET A wwmed
(i) reafim T =g
(i) sidta fasiha Raifdn w== (IFRS)

(@) TE=A [T o AEA qAIA | ANAF A GO qeAET TS A e
Y |

PTO.
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w @l i = e T | i @ 210,000 A
m?sooooa@ﬁmumﬁzﬁﬁ SIES
fast @t
210,000
28,000

A
B
caﬁﬂﬁim-&m@wwmi '
WEER FHAL 433 @ FAE AN B TEA

aamﬁwaﬁmﬁwm%%mﬁ@
S AR @R T w T TR S

(%) e B THY-TH? Faww WA y feoam
(@) A,B 3R C, F. 321%@*‘@!
2014 I IAH TAT-9A TE TER A -
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(@) (i) ‘A o & W & o AR @le @ fw s @ e B a e
& T H S000 T ] R @ TWHE B S R | 39 GEr ) w2 fea
'&TIQTTITI%:

(i) “A® 9= @ 7 af A I A I AR T R i AR @t @
foe B A = v 7@ o ®

(i) A ao & 7 ufft & 233 A w1 @ W 2 Al B X 4000 ®

T AFHH JURX H JIUR | A BRI Y T¢ aee @ 7w ® @de foran
2

(i) v fen afF are w89 @ fe daa e Pt @ fog @m =@ @
fo e B o ® | 3w sEfa @ ke 9w ve s Rt @ sh wfEe aw

T B VW A A IX AR ER AST I GHA R 7 FRO AR I+
5w |

HAdl

(%) “smavas oy 9 & 3 w_Ee | I R T aﬁmaﬁ@%maﬁmmﬁm
® A s o fafuw Rafy @ awen @i

(@) (i) A® o v o 2 frad R A a8 T 2 A @R 2 e 3w e @
7% o @Y B Al 99 3w @ o e e R | 5@ B A O 9 swawaan @
Tl TA B, TE HUC D HIUR WA D IeAvH D Riw A = fieg a@ e

X A E | T TE AHA BN ? RO S@AISY | R G IR =T 2w Al
B, A &1 321 2 1| af? & R wwor mEy |

(i) A, B & fog fiomr e & & fo wewm & o 2 ) ‘A’ TUCHARR Bl W
2 3R I Qe B9 @ B W @ Rree e A 33 B @ fiw feR A
FE M T A Ied i A qR W wwm @ 1w @

2. (a) Explain the provision of the sale of goods. Act 1930 relating to the implied
conditions ‘as to title’ and ‘as to sample’. (7)

PTO:
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AUan

(%) “faghen et & den ) Ed o FUER T 2 wF A AR TR ww www
@ Wi FN AR zE @ smEet @ e Fihw

(@) (i) 7 3R aRE F K FA=Y |

(i) A", 20qte A w/e B A @lean 2 | T w@W WY W A F o= A S
S B | A e o T A w2t A geel @ e we a9 v
FAA T A wfam @ A ey | i A e 9 e @ e
ﬁﬁasﬂ%aﬂm%mwaﬁr%a&%vammw
W R | T A WHA BN ? FHRO AT |

k3. (a) Discuss the main features of Limited Liability Partnership (LLP) act
' 2008. (7)

(b) (i) Who can be designated partner ? State the liabilities of designated
partner.

(i) “The court can wind up the LLP on just and equitable grounds’.
Comment on this statement. C (4+4)

OR

(a) Define a Limited liability Partnership as per LLP act 2008. How does LLP
differ from Limited Liability Company ? (7)

(b) (i) What is the meaning of Declaration of solvency ? State the significance
in the context of voluntary winding up LLP.

(if) Write a note on contents of Incorporation Document of LLP. (4+4)
(%) @ afdes swrierd (LLP) sfafaw 2008 ot 7 Rdtwansl <t ke < |

(@) (i) wwier’ @ R fa s v 2 ? PRt TR @ R W saa
T |

P.L.O:
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fewvit.— 58 797 1 3T TR a1 M3t et vF W @ AT AfET TN I I AT
TF & & TnEe

Attempt all questions. All questions carry equal marks.
9 Jv F I AT g9 g F ofF qEA &

1. (a) What is meant by Globalization? Explain India’s experience of globalization since

1991

vt ¥ T FAT gHWY 7 1991 ¥ AR W Avefig<or ¥ Hay ¥ wng ¥
VS P AT FHIfC |

8

(b) Explain the concept of service. What are the reasons for growth of services sector in
India?

WﬁﬁmﬁmﬁmlmﬁWMﬂq&%wmﬂ? 7

Or (31%am)
(a) Explain the concept of social responsibility of business. What is the need for
assumption of social responsibility of business?

W%wﬁﬁ'mﬁaaﬁmaﬁmaﬁﬁwwmm

IERIAE H WEU FA F F97 EITHAT 2 7 8

P. T. 1O
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(b)

(a)

(b)

(a)

(b)

(b)

What is One Person Company (OPC)'.-’ Explain 1ls (catures and mcrits

wwﬁsm(om)wa‘mﬁ%?wﬁwaﬁaﬁlﬁmaﬁﬁmﬁm'

f

] il .ps involved in strategy |
What do you mean by ‘strategy’? Outline the steps involved gy lormy.

lation.
Wﬁﬁmwmﬁé?mﬁﬁqmﬁﬁuﬁmﬁmwwaﬁmls

What is delegation of authority? Explain the principles ofisficctve delegation;of
authority.

AFR F1 yAETT w41 fa &2 e sfvER-TEEeE & fagial # sy
SHifs | 7

Or (31eam)

“Private company is a compromise between partnership firm and public company.”
Critically examine this statement.

“fasft @uel, wrfie wd st gt get & e wEwtE 2 59 FuA ®

AT Wi FA | 8
Define leadership, Explain the various styles of leadership.
g w gt fAC | g w e derat st s st 7

Compare the Maslow's theory of need hierarchy and Herzberg's two factor theory of
motivation,

thMMﬁmﬂ%mtammaw
I | 8

Define Transactional Analysis and explain its role in im
relations in an organization.

- 31 aRw AT S TR A sindutee e -
e Hatﬁaﬁgunﬁﬁsaﬂaj

proving interpersonal

Or (31%rm)




(a)

(b)

(a)

(b)

(a)

(b)

Write explanatory notes on any two of the following:

()

(ii) Boundcd Rationality
(iii) Feasibility Study
(iv) Matrix Organization.

frafafaa § @ fasi @ | srETEs feafral fafae

What do you mean by marketing”? Explain the importance ol markcting concept for a |
modern business enterprisc.
faqua & 39 a1 guwd €2 an

: qfwmmm%rmmmqma;
HEgtd hl TSl FifSU |

8

Explain the process of control. Describe the prerequisites

of a good mnlrol‘
system.
i
i
|

I
5

What do you understand by the term ‘change’? Why do people resist change in an
organization?

TREAT W W Y = g {2 Wred § wREdd & o a4t faie a1 ¥ g

Discuss operative functions of Human Resource Management.

AHE WEY Y & Y9I FE @ e S |

-
Or (s1rn)

Write an explanatory note on the “Efnerging Issues in Management”,

'WAY W IV W AN AT WY T ST (oquh iy | 8

What is financial management? Explain its scope and objectives.

fadfta s a1 o 8 ? g fawgdy stk stvat + =TEE #ifwg 7

Make in India Movement

P. 10,
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(3 )

1.20,000
%9 25,00,000
forska At 1,20,000
e 60,000
ST BN 1,60,000
= (10%) 20.000
fereret 10,000
I 10,000
HHH 60,000
= ity 10,000
9z @ 20,000
g fas 40,000
45,50,000 45.50.000
[UEEA

Yo T 5%, T T 15% a8l FEER T 10% i R W qeIEd | LI FSTFHA
31 femmar, 2014 ® 7@ fe@ w1 e sfag 7/1/2015 | fw= w0 1/12015
27172015 ® &= @ oF-24 € : fawl T 2,50,000, A T 1,50,000, 7/1/2015 1 FIH

Z 1.80.000 AU THT Y HI T 20% | W & A ¥ 1,00.000 HeA T T M T

PTO.

























(b)

(a)

(b)

¢ 18+

1861
What do you understand by convergence of IFRS 2 Is there any need for such
convergence ? 3

| SFad, 2010 #1 fifg X 2 30,000 # weltA ‘u’ Am 7 20,000 F WA ‘' =
| SEd, 2011 W IWA 2 50,000 H WA W @@ | wwE@, 2012 F oA
'Q'waﬂéam?6o,oooq?qaﬁﬂéusﬂq@ﬂfﬁﬂémmguﬁmﬂ?
F T 45,000 TR P R T | SEE, 2013 9, 1S, 2011 F @i
Te W o e A afa A T s o svaReg FEE 3 W 230,000
Wi 2010, 2011, 2012 qon 2013 F fom wei @@ T= FHHY: Hd oI W
10% afti X A Feugm @y

ST fadita fdfdn wmal (FRS) ® sty @ soE g svTE E 2 4

39 YR & AfEu &1 FE Evasd 2

Aaryan Motor Ltd. purchased three trucks costing ¥ 2,00,000 each from Dev Auta Ltd

on Ist January, 2012 on hire-purchase system. The terms were : payment on delivery

¥ 50,000 for each truck and balance of the principal amount by 3 equal instalments plus

interest at 15% p.a. to be paid at the end of each year. Aarvan Motor Lid. writes off

25% depreciation yearly on the diminishing balance method. Aaryan Motor 1.td. paid the

instalment due on 31st December, 2012 and 31st December 2013 but could not pay the

final instalment.

P.TX)







1HG1

(3reran)

Mohan sells goods on hire purchase basis also. He fixes hire- purchase price by adding 50

o the cost of the 2oods o him. The lollowing are the figures relating to his hire-purchase

business for the year 2014 -

4
Balance on Hire-Purchase Stock Account on 1-1-2014 24,000
Balance on Hire-Purchase Debtors Account on 1-1-2014 600
Selling price of the goods sold on hire-purchase basis during the year 1,81,200
Cash received from hire-purchase customers durning the year 1,84.800
Total amount of instalments that fell due during 2014 1,85,400

One customer to whom goods had been sold for ¥ 2,400 paid only three inst

¥ 200 each. On his failure to pay the monthly instalment of ¥ 200 due on 4th December,

2014 the goods were repossessed on 27-12-2014 after legal notice.

Prepare ledger accounts as per Stock and Debtors system. 10

ﬁm,hm—mwmmﬁmﬁ%uaa@m-mmqwaﬁmﬁ

50%
Ghsmmm%nﬁwﬁrﬁaamaﬂzomﬁﬁﬂmmm—mwﬁm
T

P.T:O.
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1.

(a)

(b)

(a)

U & &1 9nET

Attempt all questions. All questions carry equal marks.

9 IV & I ST |t g ¥ 5F guA 2

State, with reasons in brief, whether the [ollowing statements are true or false:
(1)  Collateral transactions to an illegal agreement are valid.
(11) Mere silence as 1o [acts is not [raud.

(i11)) Quasi contracts are not contracts in the real sense of the term.

HHT ¥ HRO I G50 (% FrafafEd w99 9@ § @ sme

(i) 49 FW & qEd qU¥asH d=4-27 49 A 2 |

(i) @@ & wfa o quit H1d Fe 76 2|

(iii) =1 @faerd, s & arafas mvE A, G@fEerd T@ A 9

“The law ol contracts is nol the whole law ol agreements, nor is it the whole law of
obligations.” Explain.

“gifaerall w1 FEA, T H O FEA TE A@ AR A @ AR WA | @ FA
W%l"maﬂml 6

Or (319an)
State. with reasons in brief, whether the [ollowing statements are true or false:
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(b)

(c)

(a)

() A voidable contract may remain valid.
¢ of wagering agreements.

as a right by the aggricved party.

(i) Insurance is an exampl
(i) Special damages can be claimed
ﬂé{uﬁm%mﬁﬁﬁaﬁmﬁﬁﬁmﬁf@ﬂaﬁmﬂém TEA:
() YeRia R A @ T 2
(ii) e, Tl A G AR

Gii) fadm wifrEl & feg e, i qref

from B and execuled a promissory note in favoy,
y A when he attained majority. B brings

g & ®9 d, H Fhdl @ | ]
A, a minor, borrowed some moncy
ol B. The promissory note was renewed b : .
suit against A on the basis of second promissory note. Will he succeed in recovering

money [rom A? Give reasons.

A S Ff srcaae 3 B A % d@ 3UR A a1 @ AR B F T H T T it

F 3 | qE a9 T (R A A (R T A S A FAER B A B
g99 T ¥ YR W A ¥ REeTF A1 o1 41 & | F qE A A T qge | avg

g 2 sy S | 3

Ram's son absconded from home. He sent his manager in search of the boy. After the
manager had left, he announced a reward of Rs. 10,000 for anybody giving
information about his son. The manager came to know of this offer only when he had
alrcady traced the missing boy. Explain his rights giving reasons.

9 & AT W A TR B OTAT AT | IGA ASH H @A ok (A AT TagEF FH A
YEuE & WM & A 391 3@ G F 10000 To F IYGR <4 H gom FH, A A
=fth 39F 4 & ar F G AM | YUk K 3 GG F YAl q9 FIoAl T I &
&1 qal o oA o1 | 3EE SUER H ATE HAC T FRO AT | |

(1)  “Custody of goods implies property in goods.” Comment.

(i) X agreed to sell to Y the entire quantity of oil lying in a tanker in X's godown.
The oil was to be [illed into drums and then the drums were to be delivered 0
Y. Some drums were filled in the presence of Y: but before the remaining
drums could be filled, a fire broke out and the entire quantity of oil was
destroyed. Who will bear the loss? Discuss. -

(i11) A delivers some jewellery 1o B on sale or return basis. B pledges the jewellery |
with C. A sues B [or recovery of price. Will he succeed?

() e i arfwen & fAfeaed @ owre § wufa ) feawht i

() X A9 F FOF a9 F Y H A9 & o mwwd @ w2 @ a9 X F R
a*mﬂwmnﬁaaﬁsﬂ’fﬂwmmaﬂtm;ﬂaﬁyiwfmﬂ
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(b)

(a)

(b)

(a)

(b)

1)

499 5 qw g T g8 ol & ol awa etm )

(i) A FO AW fashl a1 anoe sram w g &) ¥ e 01 B & s 41 ¢ &

AH I W@ AR A T I A & e B ow @ @ A b g
a8 HEA M 2 9

“The ‘Doclrine of Caveat Emptor does not apply in all contracts of sale

Explain the Doctrine and give the situations where this Doctrine is not applicable

A WEUE R, T 9 wre-faE) @ i wfaersit w anp T o gw fagia

QWWWQWﬁWmeammmn”
Or (319an)

paid seller only when the buyer has not paid the price.”

ol goods.’

(5

(1)  “Aseller becomes an un
Comment.

(i) A lady, who knew that her skin was abnormally sensitive, bought a coat and

developed skin trouble by using it. She did not disclose to the seller that her
skin was abnormally sensitive. Can the seller be held liable?

(ii1) Distinguish between right of lien and right of stoppage of goods in transit.

(i) “fﬂﬁ?ﬂlmmﬁﬁméﬁamwmém%mﬁmqmm“
femmfi Fife |

(ii) wﬁmﬁmmﬁﬁfmmﬂmmmmﬂmtmm
mammma@mmame.mmﬁwm

A A1 F IHHD WA SEROE: wATA | F faRar § (weEn sy
S HaFaT & ?

(iii) omoMaER 3t vt F de F afeFn § siaw @y 9

“A seller cannot convey a better title to the buyer than what he himself has.” Explain
the statement, giving exceptions to this rule, if any.

"m,mﬁmmmmammmw%mwmmam
TG FIfAU 31 30 Fram & Ivare] | aqwy, afz 512 6 | 6

State the process of formation of LLP.
LLP & famfu & sfeFan &1 Ieor@ #IfSw | y

State the circumstances under which a Limited Liability Partnership (LLP) can be
wound up by the court.

HWWWWWWWW(LLEﬂWW
FTHAT B | 9
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(a)

(b)

(a)

(b)

(a)

1862

Deline the l'ulluwing terms:
(1)  Hash function
(i)  Key pair

(1) Computer network and computer virys.

(i) B9 wavm
(i) M-I
(ili)  FPAER Yeadhs stk ey A | 9

J‘Any person n.me make an application to a certifying authority for issue of Digital
Sl.gr?aturc.: Certiflicate. Explain the provisions of IT Act for grant and revocation of
Digital Signature Certificate.

"ﬁéﬁwﬁmwmﬂ&mmmmwmﬁ%mm

mm%ﬂwaﬁﬁwaﬁmmﬁﬁmaﬁﬁqﬁ%ﬁmmm#
a2 R ® 3 A wafem ¥ 6

Write short notes on the [ollowing:

(1)  Agency by ratification

(i) Surety as a favored debtor

(iii) Doctrine of supervening impossibility.

Frefafan w wfi froafri fofa:

(i) FFHEA R e

(i) 3Fd TR F &9 F FHr=!

(iii) el oo 1 fagi | ;
Who can become partner in an LLP? What are the disqualifications for becoming a
partner? How can a person become a partner of an LLP?

LLP W 9rfier &9 & ®ehal & ? 9UACR a9 & fou svavaand @ 27 =t frg

YHR LLP & 9NER a9 &al € ? 6
Or (219@n)

“A stranger to consideration can sue, but a stranger to contract cannot sue.” Explain

the statement, giving exceptions, il any.
P 1.0,
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(Write your Roll No. on the op immediately on receipt of this question paper.)

Altempt A/l questions.
Attempt any three : 3x10=30
Read the passage and answer the questions that follow

(@) “The only path to the well passed that way—how were they to get water ? Who would

come (o draw water with a tanner’s corpse nearby™ ?
() Identify the story and its author. ‘ 2
(i) What is the ‘way’ referred to in the first sentence ? 2

(iif) - Why could the people not draw water from a well with a tanner's corpse nearby ?

Do you think their complaint in the first sentence is justified ? 6
() This is how you set a table for tea;

This is how you set a table for dinner;

PT.O,







$ &) 5056
My friend. you would noy 1 with such high zest
To children ardent for some desperate glory,
[he old lie : Dulee et Decorym est
Pro Patria mori™,
() Name the poem and the poet. 2
(i Whose lungs is the Poet talking about and what has damaged them ? 3

(#i)  Explain the statement ; ‘Dylce decorum estpro patria mori”. Why does the poet

call it a lie ? 5

Answer any one of the following 13

(@) For those fighting caste oppression history is an important site for struggle. Discuss with
reference to the essays by Jotirao Phule and B.R. Ambedkar.

Or

(b)  Analyse how the attitudes of Omprakash Valmiki's father and Dukhi represent two opposite

reactions o casle oppression.
Answer one of the following : 15

(@) What is the “First Political Act’ that the poem begins with ? Why is it called the *First
Political Act” ?
(b) Do you agree that Eunice De Souza's poem “Marriages are Made™ is a comment on

the way society treats women ?
P10
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Nork .~ Answers may be written ¢

ither in English or in Hindi,
throughout the paper.

but the same medium showld be used

Rt mwmwwaﬁ?#ﬁ?ﬁwﬁa&mﬁww#ﬁmdﬁnmmmww
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Attempt all questions All questions carry equal marks
T w7 sifrard # T 957 F oF wwry §)

. (a) How to determine residential status of an Individual and a Company?

wmﬁaaﬂwqquﬁﬁwmwhwmmh

(b)  The following are the incomes of Mr. Aman for the previous year 2015-16
Rs.

(1) Income from agriculture in Bangladesh 1,20,000
(1)  Salary received in India for services rendered in Iraq (computed) 1,80,000
(m)  Income from business carried on in Kathmandu controlled from

Lucknow (one-third received in India) 96,000
(v)  Dividend from a domestic company 16,000
(v)  Interest earned and received in Australia from Bank Deposits there 26,000
(v1)  Pension from former employer in India but received in S Lanka 56,000
Compute Mr. Aman’s Gross Total Income ifhe i1s (a) Resident and ordinarily resident, (b) Resident

but not ordinanly resident and (c) Non-Resident in India_

ﬁ‘aﬁwmls—ls%&mﬁmwﬁmﬁqﬁﬁmﬁ
o
) TRy § F F aE

1,20,000

) G 7 & A (sfwtom) & O oaE & o B ae 1,80,000
() FTETy § AHE § 3@ Fww o T@ws & B m

(v e wra § g frar m) 96,000

(V) T HH F 9T ST 16,000

RT.0,
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(a)

(b)

(v) nmmﬁmqﬂﬁﬁ;ﬁ”qﬁqﬂfzﬁg -
e e e e A7
b, (w) P iy e P A# b, o () o e B g
Or ()

What is the scheme of partial integration of Non-Agricultural Income with Agriculturg
Income?

mmﬂwﬂmﬁm;mmﬁmmt? 6
Mr. X is a citizen of Australia. His matemal grandfather was born in a village near Lahore in

1932. He came to India on April 7, 2015 to complete 2 foreign assignment of his employer
company. He goes back on October 4, 2015. Mrs. X 1s ROR in India for the previous year 2015-
16. Before April 7,2015, he was in India as follows:

Previous year No. of days when Mr. X was in India
2014-15 179
2013-14 182
2012-13 180
2011-12 72
2010-11 175
2009-10 and before Nil

Determine his residential status for the assessment year 2016-17.

et X sifeferar @1 AT B | Swa wHw 2reT 1932 § WER & fyEe i W= 4
aE 7 ST 2015 F A Pt # FH & Ry ¥ Fraa w1 # g o & g 9@

ST 7| 96 4 AT 2015 F AE Io A ¥ | HES X Rea ad 2015-16 # W A
ROR &1 7 3%« 2015 & Teat Pt waw wd & 39 wahw 7oy o

few ad i X% wra & w3 @ R
2014-15 179
2013-14 182
2012-13 180
2011-12 )
2010-11 175
2009-10 § THE TEal g

. ¥
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Rs. 11,000). Mr. Nagesh contributed 11% of hys salary

lowards RPF. His employer also makes a
matching contribution. Interest s credited to his RPF g

ccount @ 10%. He also received interest
ncome on Bank Deposits Rs. 2,56,000.

Determine his taxable income and tax hability for the assessment year 2016-

17 on the assumption that
he contributed Rs. 25,000 lowards PPF.

Y T (42 w)aﬁﬁﬁﬁwzols-lea%ﬂmﬁﬂﬁffaﬁmﬁﬂﬁmg:

T 3 11,00,000 Fo; TEME sy (S A5 &7 9 7 B) e 10%; 9 78,000 Fo; Ry
W& 1,000 ®o Erﬁ'rqrs233ﬁ%ﬁ-‘m;m=r(ﬁw) 4e,oooso|ﬁa’|m%am1zﬁﬁa‘mrgﬁ
A F JI™T F@T B meﬁahmse,oooso 2| e o et
o3 & R A 36,000 Bo & (WDV 14,000 %o) 3R & T#l. (Rmar 11,000 % Rt may
®) 3 ¥ | frex e o A9 a1 MFﬁmmtlmﬁmmwaﬁnﬁr
F AN H B 1 = 10% a&a%aa%mmﬁﬁmm&mﬁ%m&z,ae,oooao
aﬁﬁ‘mmraﬁwma?rmﬁmﬁ?ﬁtl

mmmaﬁ?ﬁuhwawms-w%ﬁrqmmamﬁwmﬁmwwﬁ:m

25,000 o PPF ¥ SHT 7T & 11

Or (m)

The following are the particulars of income of Mr. Y (62 years), resident of India, for financial year

2015-16:

(a)  Basic Salary Rs. 65,000 p.m.

() Dearness allowance 30% of Basic salary.

(¢) " Transport allowance Rs. 2,000 p.m.

(d)  Personal medical bills for the treatment of Mr. Y reimbursed by the employer Rs. 35,000. The
treatment has been done by a private doctor. |

(6) He was given a chauffeur driven car (1600 cc) for private and official use. All expenses of

running and maintenance including driver were paid by the employer.

P.T.O.
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(n

(2)

(h)

fund account 10 which hys
He contributed 15% of his salary to recognized provident fund acc S Cploye

. , tng Rs. 52,000 had been credieq
made matching contribution. Interest @ 13% paa. smounting Ohy

aforesaid recognized provident fund account during the previous year on 10.12.2015.

He invested Rs. 40,000 in National Saving Certificate IX 1ssue and paid Rs. 10,000 towards
life insurance premium for an insurance policy taken on the life of Mrs. Y (sum assureg Rs.
4,00,000).

Mediclaim insurance premium (for policy taken for the benefit of Y, Mrs. Y and children) paig

Rs. 35,000.

Compute the total income and tax liability of Mr. Y for the assessment year 2016-17.

MR Y (62 a¥) wra & fandt ¥ 1 o Riein ad 2015-16 & Q@ & R P

5

(%)
(@)
(m
()

(3)

)

(®)

W 999 65,000 Fo iy WIE

WEME & g A9 N 30%

TRIET W& 2,000 Fo WA WE

MY % swar & ol et e fa @ sl e 2 2 7 & S ss,000
To FH 41| IR ol SR Z/ R T

TH S Tl 7 A @ @ fg 1600 CC R TR B A9 B A E o7 ) A @ -
FR IO AR I§F T@EH B GG TR F I99 9 HEET 20 R @ 4

TEA AU G F 15% AEA-aE g i @w § o war @ O e § R
A WA AT R E 1 13% 9f 3 2 @ & 52,000 Fo R T AT WG
e @ 7 fUed ad f&AE 10-12-2005 B T Fww E

aa%m,omsowummmmﬁrhﬂﬁﬁﬁmﬁmt@hnﬂqﬁmeﬁ
memﬁﬁqﬁﬁmmmm%moaoﬁq!l

ﬁm¥$ﬁuﬁmaﬁ2on&na}majﬂmaﬁ1mE®Hmﬂﬁmﬂﬁm| 1

(a)

(b)

How to calculate taxable income of a let out house property?

mwaﬂ@mﬁgmmmmm%%MWh

Discuss the provisions pertaining to deduction avaj lable in respect of interest on borrowed capital
(loan taken for acquiring a property) under section 24, 1f the property is:

(1)  letout house property; and

(1)  self-occupied house property.

5
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(1) mmﬁﬁm%aﬁ'{

(ii) Hﬂﬁmﬁ‘lﬁ—ﬂ"lﬁaﬁl 6

80,000, before deduction of tax at source),

Compute his total income and tax hability for the assessment year 2016-17.

ﬁm%ﬁhjwmww%hﬂmso%ﬁmmmmw%mmﬁw
# 3 W & 50% 25,oooaoufaqwﬁﬂrqwﬁmgan%uamﬁuza’fms$ﬁrqaﬁﬁm
maa*gufa?a;raﬁmﬁwm40,000*60mm%,qﬁmammss,oooaowﬁrmt
aﬂrmﬁqﬁmaﬂ%ﬁhaa,ooosoﬁﬁtuﬁmm%12,oooaof%q%‘|nmaa-q‘
10,000 Eoeﬂr#ﬂmmwzs,ooosomtumwﬁm,qsmﬂ
H’aﬁa@a‘faﬂmﬁﬁ%ﬁ7,oo,oooao%|f?raﬁaéa}a\maﬁwamaﬁwhﬁm
ﬁm%aﬁaﬂwmﬁmmﬂﬂﬁmomoao |

Mﬁuﬁwwzolﬁ-na}mmmaﬂzmmﬁaﬂaﬁaﬂqﬁﬁm 11

(a) Mr. Albert acquired a residential house in March 2006 for Rs. 8,00,000, Expenditure on
improvement (being construction of additional floor) incurred during 2011-12 is Rs. 6,00,000. He
sold the house property in September 2015 for Rs. 90,00,000 (stamp duty value : Rs. 92,00,000).
He acquired a residential house in March 2016 for Rs. 15,00,000. He invested Rs. 10,000 in
capital gains bonds issued by National Highways Authority of India (NHAI) during December
2016.
Compute the capital gain chargeable to tax for the assessment year 2016-17.
Cost inflation index: F.Y. 2005-06 = 497

FY.2011-12=785

F.Y.2015-16= 1081
PTO.
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Uﬁﬁﬁmmﬂmlmw
‘ ) | T 8 Hyfw
W 2011-12 & 6,00,000 To @ BT taﬁiﬁﬁqﬁﬁ%m ® #

Rietar 2015 & 9,00,000 To ¥ ¥4 fa (¥ gé 92,00,000 8_0 w a)a;ﬁ:‘:{ ;:6 L]
10,000 Ho oI FTH gtz § @ Ft R @ A9l QECE it L

&

Frurfeor s 2016-17 @ R ofim @ R

A T g A ad 2005-06 = 497
i ad 2011-12 = 785
farefy a9 2015-16 = 1081

to taxation of gift received in cash/cheque by an

fiRey T A 8,00,000 Fo A e 20

mﬁaﬁmﬂaﬁmaﬁﬁm

6

(b) Briefly discuss provisions pertaining
individual.
aﬁﬂmmm%mmwarmaﬂaﬁﬂmmaﬁaﬁMﬁﬁﬁw
HIT | 3

Or (sraa)

(a) Define the term “capital asset”.
ofra aRwfeEl @ aReTsT R | 3

(b) Mr. X transfers gold on October 1, 2015 for Rs. 40,00,500. He incurred Rs. 500 expenses on
transfer. Gold was purchased on May 1, 1985 for Rs. 1,00,000. He purchased a new house in
Mumbai for residential purpose on June 10, 2015 for Rs. 30,00,000. He does not own any other
house. He sold Mumbai property on April 15, 2017 for Rs. 70,00,000. Find out the chargeable
capital gain for the assessment years 2016-17 and 2018-19. Cost inflation index for 1985-861s
133, for 2015-16 1s 1081.
fAet X, 1 37T 2015 F 40,00,500 Fo F HHT AT H@T & | ITA 500 To AW W
@ T | |97 1 9§ 1985 &1 1,00,000 o H G 47| TAF 10 JF 2015 FH 8,00,000 FO
§ e IRV A U T A @O | TEH AT FE AR qp A ¥ | I9H 15 A
2017 1 §a¢ P HfE H 70,00,000 Fo ¥ I R | Frerieer 7 2016-17 3k 201819 F

forg ¢ arg el @ ST BT | AT S GEHiE 1985-86 @ fT 133 3R 2015-16
& fow 1081 B 6

5. Mr X (30 years), a salaried employee, furnishes following information for the previous year ending
March 31, 2016:

Salary Income - Rs.40,80,000
Interest on debentures - Rs.4,50.000




Interest on bonds

~  Rs.1,80,000
Long-term capital gaing R i
Gift received from a non-resident friend

through electronic transfer Ri: 4106600

Payment of insurance Premium on the

life of spouse (sum assured Rs. 1,00,000)

Rs. 8,000
Contribution towards RPF Rs. 30,000
Contribution towards PPF Rs. ]0,800
Tuition fees of Mr. X’s Son Rs. 20,000
Payment of premium on own mediclaimpolicy Ry 25,000

Determine: (i) Net Income, (ii) Tax Liability of Mr. X for the as
T X (30 a@ﬁu)qa;aawvﬂmr&hazm#m

sessment year 2016-17.

Frffea g 2ar &
I q A ~  40,80,000 Fo
Rt W oW —  4,50,000 Fo
ST W A ~  1,80,000 %o
qfafr Ot amy —  6,00,000 To
W s R ¥ s s @
4,00,000 o F ITER I fkar 4,00,000 o
B & T Fgex SR (70,000 Fo T &) § 9 far
Tl & e @ A hfaw s R
(drg wfdr 1,00,000 Bo) 8,000 Fo
RPF ¥ ghrery 30,000 o
PPF § grpem 10,000 &0
ﬁmx%gaa%wqm 20,000 To

4 &t ik zmar oiferdt @ Aty Rar 25,000 o
P aBReg: (i) Praer o, i) e X A fer 3 2016-17 & R e
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